This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 5 - Clydebank Central

4,976

4

996

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Denis AGNEW	Independent	791
Dean ALLARDICE	West Dunbartonshire Community Party	84
Jim BROWN	Scottish National Party (SNP)	1,631
Diane DOCHERTY	Scottish National Party (SNP)	714
Penny HUTTON	Scottish Conservative and Unionist	441
John MOONEY	Scottish Labour Party	1,180
Alan Lewis SORRELL	Scottish Labour Party	135
	Total	4,976

Candidate Jim BROWN Elected with 1,631 votes, being in excess of the quota of 996 Candidate John MOONEY Elected with 1,180 votes, being in excess of the quota of 996

This report contains the transfers results.

Stage 2 - Surplus of Jim BROWN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Denis AGNEW	39	0.38933	15.18387
Transfer to Dean ALLARDICE	8	0.38933	3.11464
Transfer to Jim BROWN	0	0.00000	0.00000
Transfer to Diane DOCHERTY	1,500	0.38933	583.99500
Transfer to Penny HUTTON	7	0.38933	2.72531
Transfer to John MOONEY	0	0.00000	0.00000
Transfer to Alan Lewis SORRELL	8	0.38933	3.11464
Value of non-transferable ballot papers			26.86654
	Total		635.00000

This report contains the transfers results.

Stage 3 - Surplus of Diane DOCHERTY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Denis AGNEW	355	0.09058	32.15590
Transfer to Denis AGNEW	179	0.23266	41.64614
Transfer to Dean ALLARDICE	133	0.09058	12.04714
Transfer to Dean ALLARDICE	104	0.23266	24.19664
Transfer to Jim BROWN	0	0.00000	0.00000
Transfer to Diane DOCHERTY	0	0.00000	0.00000
Transfer to Penny HUTTON	29	0.09058	2.62682
Transfer to Penny HUTTON	16	0.23266	3.72256
Transfer to John MOONEY	0	0.00000	0.00000
Transfer to Alan Lewis SORRELL	224	0.09058	20.28992
Transfer to Alan Lewis SORRELL	110	0.23266	25.59260
Value of non-transferable ballot papers			139.71728
	Total		301.99500

This report contains the transfers results.

Stage 4 - Surplus of John MOONEY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Denis AGNEW	88	0.15593	13.72184
Transfer to Dean ALLARDICE	12	0.15593	1.87116
Transfer to Jim BROWN	0	0.00000	0.00000
Transfer to Diane DOCHERTY	0	0.00000	0.00000
Transfer to Penny HUTTON	26	0.15593	4.05418
Transfer to John MOONEY	0	0.00000	0.00000
Transfer to Alan Lewis SORRELL	918	0.15593	143.14374
Value of non-transferable ballot papers			21.20908
	Total		184.00000

This report contains the transfers results.

Stage 5 - Exclusion of Dean ALLARDICE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Denis AGNEW	84	0.09058	7.60872
Transfer to Denis AGNEW	4	0.15593	0.62372
Transfer to Denis AGNEW	65	0.23266	15.12290
Transfer to Denis AGNEW	1	0.38933	0.38933
Transfer to Denis AGNEW	36	1.00000	36.00000
Transfer to Jim BROWN	0	0.00000	0.00000
Transfer to Diane DOCHERTY	0	0.00000	0.00000
Transfer to Penny HUTTON	3	0.09058	0.27174
Transfer to Penny HUTTON	3	0.23266	0.69798
Transfer to Penny HUTTON	1	0.38933	0.38933
Transfer to Penny HUTTON	5	1.00000	5.00000
Transfer to John MOONEY	0	0.00000	0.00000
Transfer to Alan Lewis SORRELL	13	0.09058	1.17754
Transfer to Alan Lewis SORRELL	2	0.15593	0.31186
Transfer to Alan Lewis SORRELL	7	0.23266	1.62862
Transfer to Alan Lewis SORRELL	15	1.00000	15.00000
Value of non-transferable ballot papers			41.00784
	Total		125.22958

This report contains the transfers results.

Stage 6 - Exclusion of Alan Lewis SORRELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Denis AGNEW	92	0.09058	8.33336
Transfer to Denis AGNEW	237	0.15593	36.95541
Transfer to Denis AGNEW	47	0.23266	10.93502
Transfer to Denis AGNEW	3	0.38933	1.16799
Transfer to Denis AGNEW	40	1.00000	40.00000
Transfer to Dean ALLARDICE	0	0.00000	0.00000
Transfer to Jim BROWN	0	0.00000	0.00000
Transfer to Diane DOCHERTY	0	0.00000	0.00000
Transfer to Penny HUTTON	25	0.09058	2.26450
Transfer to Penny HUTTON	152	0.15593	23.70136
Transfer to Penny HUTTON	15	0.23266	3.48990
Transfer to Penny HUTTON	2	0.38933	0.77866
Transfer to Penny HUTTON	34	1.00000	34.00000
Transfer to John MOONEY	0	0.00000	0.00000
Value of non-transferable ballot papers			183.63272
	Total		345.25892